GROSS ANATOMY 2006 EXAM 1
1. A dermatome is an area of skin innervated by which of the following?
A. a single dorsal root
B. a single dorsal ramus

C. a single spinal nerve

D. a single ventral ramus

2. Which of the following ligaments would limit excessive extension of the spine?

A. posterior longitudinal ligament

B. supraspinous ligament

C. anterior longitudinal ligament

D. ligamentum flavum

3. Direct metastasis of tumor cells from a primary site in the pelvis or abdomen to a secondary site in the brain can occur via a plexus of valveless veins located in which of the following?

A. epidural space

B. dural sac

C. subdural space

D. subarachnoid space

4. Which of the following functional nerve fiber types conveys motor information to the sweat glands located in the skin over the medial 2/3 of the back?

A. somatic afferent

B. visceral afferent

C. somatic efferent

D. visceral efferent

5. The cell bodies of the motor neurons that innervate the erector spinae muscle are located in the…

A. brain

B. spinal cord

C. dorsal root ganglion

D. ventral rami

6. Pathological changes in which of the following would LEAST LIKELY cause an irritative lesion of a spinal nerve?

A. intervertebral disc

B. zygopophyseal joint

C. spinous process of vertebra

D. vertebral body

7. A traumatic injury has severed a patient’s spinal cord at the T11 vertebral level. Sensation would be lost in which of the following dermatomes?

A. T11 only

B. T11 thru S5

C. T12 thru S5

D. L2 thru S5

8. On a plain film X-ray, which of the following would NOT be represented by the “white” or “light” area on the image?

A. radiopaque structures

B. more dense structures

C. radiolucent structures

D. thicker structures

9. Which of the following is NOT innervated by dorsal rami?

A. skin on the lateral 1/3 of the back

B. erector spinae muscles

C. zygapophyseal joints

D. supraspinous ligaments

10. Difficulty abducting or raising the right upper extremity over the head would most likely be explained by a lesion to which of the following structures?

A. right accessory nerve

B. right lower subscapular nerve

C. dorsal rami in the right upper back

D. right thoracodorsal nerve

11. The lateral cord of the brachial plexus is formed by the convergence of the anterior divisions of the….

A. middle and inferior trunks

B. middle trunk only

C. superior and middle trunks

D. superior trunk only

12. Which of the following arteries is most at risk in surgical neck fractures of the humerus?

A. suprascapular 

B. posterior humeral circumflex

C. axillary 

D. deep artery of the arm

13. Which of the following groups of lymph nodes typically receives most of the direct drainage from the breast?

A. supraclavicular 

B. scalene

C. axillary

D. parasternal

14. Which muscle-action pair is INCORRECT?

A. lastissimus dorsi – shoulder adduction

B. rhomboids – scapular retraction (adduction)

C. serratus anterior – upward rotation (of lateral angle) of the scapula

D. teres major – lateral (external) rotation of the shoulder

15. Pain sensation from the skin on the “shoulder pad” region of the upper limb is conveyed through the:

A. axillary nerve

B. lesser occipital nerve

C. suprascapular nerve

D. supraclavicular nerve

16. Which of the following muscle – insertion pairs INCORRECT?

A. teres minor – greater tubercle of humerus

B. pectoralis minor – acromion process of scapula

C. subscapularis – lesser tubercle of humerus

D. serratus anterior – anterior surface of vertebral border of scapula

17. Which of the following structures is located most medial in the cubital fossa?
A. Biceps brachii tendon

B. Brachial artery

C. Median nerve

D. Radial nerve

18. Which of the following muscles inserts on the first metacarpal bone of the thumb?

A. Adductor pollicis brevis

B. Oppenens pollicis

C. Adductor pollicis

D. Flexor pollicis brevis

19. A dentist is unable to hold a piece of dental floss between his index and middle fingers because of an injury to which of the following nerves?

A. Radial 

B. Median

C. Musculocutaneous

D. Ulnar

20. Which of the following is NOT innervated by the musculocutaneous nerve?

A. Coracobrachialis

B. Brachioradialis

C. Biceps brachii

D. Brachialis

21. A midshaft fracture of the humerus typically would NOT affect the innervation of which of the following muscles?

A. Bracioradialis

B. Exensor carpii ulnaris

C. Triceps

D. Supinator

22. Inability to supinate the forearm could result from an injury to which of the following nerves?

A. Axillary and radial

B. Musculocutaneous and median

C. Radial and musculocutaneous

D. Median and ulnar

23. Nerve damage that impairs flexion of the distal interphalangeal joint of the index finger also produces which of the following conditions?

A. Similar paralysis of the little finger

B. Complete paralysis of the thumb

C. Loss of sensation over the distal part of the second digit

D. Loss of supination

24. Which of the following correctly describes the location of the median nerve at the wrist?

A. lateral to the radial artery

B. lateral to the flexor carpi radialis tendon

C. lateral the palmaris longus tendon

D. medial to the flexor carpi ulnaris tendon

25. The subarachnoid space extends inferiorly to the ___________________vertebral level.

26. A small posterolateral herniation of the L3-4 intervertebral disc would typically produce pain in the ___________________ dermatome.

27. Contraction of the left sternocleidomastoid muscle will turn the face to the ___________________ side.

28. Contraction of the posterior fibers of the deltoid muscle can produce ___________________ (action) of the arm at the shoulder joint.

29. Tendonitis of the supraspinatus muscle tendon will result in reduced ability to ___________________ the arm at the shoulder joint.

30. The superficial palmar arch is the continuation of the ___________________ artery.

31. The ___________________ muscles abduct digits 2-5 while the ___________________ muscles adduct digits 2-5.

32. The only intrinsic muscles in the hand that have both a soft tissue origin and insertion are the ___________________ muscles. 

33. Fracture of the medial epicondyle of the humerus most likely would damage the ___________________ nerve.
